8 7 6 v 4 3 2 1
DRAWING REVISIONS
REV DOCUMENT APP| DATE
* DIA A CCS
.09
09 + MAX .13 HEXm=—
1
25 +
09 24 ﬁ#Q—Sé UNC-2A T #2-56 UNC-2B
MAX vd
( ] 19
25 T
|, #2-56 UNC-2A ‘
Figure 3
= .16 DIA MAX B |
? .16 DIA MAX 484 03
] LI 1 ]
Figure 1 ' ? MAX
J .16 [ ]
53 #2-56 UNC-2A
61
11 MIN 45 11 MIN
Figure 5
09 *
MAX
.09
#2-56 UNC-2A 25 MAX
1 ]
26 +
24
i ¥#2-56 UNC-2A
NOTES:
MATERIAL :
JACKSCREW: NONMAGNETIC CORROSION RESISTANT STEEL, Figure 2 Figure 4
MINIMUM TENSILE STRENGTH OF 125,000PSI.
JACKPOST AND NUT: CORROSION RESISITANT STEEL
IN ACCORDANCE WITH ASTM A484/A484M AND
EITHER ASTM A276 OR ASTM A582/A582M,
PASSIVATED IIN ACCORDANCE WITH SAE-AMS2700 P
CLIP AND WASHERS: CORROSION RESISITANT STEEL ORI
IN ACCORDANCE WITH ASTM A484/A484M, ENGLISH mcHes | @} PRO/E CINCH oD E R e
PASSIVATED IIN ACCORDANCE WITH SAE-AMS2700. 5O NOT SCALE DRAWING TP oA T JACKPOST AND JACKSCREW
ORDER INFORMATION NLESs OTHERWEE SPECIIED J. WARRAICH 6/9/22 SALES DRAWING
- ALL DIMENSIONS ARE IN INCHES DESIGN ENGINEER MATERIAL CONTROL SPEC NUMBER
TYPE STYLE SCREWHEAD |THREAD MILITARY PART NO. |Figure FLET/RADI TOLERANCES
.02 MAX Xt
JACKSCREW LOW POST RECESSED HEX #2/56 M835] 3/05—02 ] xii%ggm DESIGN ENGINEERING MGR. MATERIAL SPEC NUMBER FINISH PROJECT NUMBER
JACKSCREW |HIGH POST |RECESSED HEX | #2/56 M83513/05-03 2 ANGULAR £ &
MFG. ENGINEERING CAD FILE NUMBER DRAWING NUMBER
JACKSCREW |LOW POST |SLOTTED #2/56 M83513/05-05 3 OF CINGHNEITHER THS DOCUMENT M83513-05 M83513-05
JACKSCREW |HIGH POST |SLOTTED #2/56 M83513/05-06 4 CONTANED RITAY BEDURICATED [ GUATTY ASSURARCE cREDETRO. [ | -
JACKPOST - - #2/56 M83513/05-07 5 YVRITTEN CONSENT OF CINCH. 71785 | B S5:1 \SHEET 1 OF 2
8 7 6 ‘ 4 3 2 1




8 7 6 5 ' 4 2 1
I~ 19 DIA = - .19 HEX —=—]
~ .10
o= 19D = | |_| T
1 \ 19
18 = #4-40 UNC-2B
09 —= .14DIA |=— *
MAX I
09 —={ 14DA |=— ] 484 03 14 DIA
MAX 29 A Y
+ 09~ {
29 MAX N
: [: #4-40 UNC-2A
#4-40 UNC-2A #4-40 UNC-2A
Figure 8
Figure & k—»k 20 DIA — - Figure 10
* | 4 |_|
16 16
M*IN MIN
!
>3 61
45
| + +
! 09 14 DIA
14DIA M?fx MAX .
} T eY—
29 9
+.01
#4-40 UNC-2A S~ #4-40 UNC-2A
Figure 7 Figure 9
UNITS
ENGLISH cHes CINCH SRR
DO NOT SCALE DRAWING
ORDER INFORMATION QoS | JACKPOST AND JACKSCREW
TYPE STYLE SCREWHEAD |THREAD MILITARY PART NO. |Figure S o SALES DRAWING
JACKSCREW [LOW POST |HEX #4/40* M83513/05-12 6 o 2ED
JACKSCREW |HIGH POST | HEX #4/40* M83513/05-13 7 ACOARES PRO/E DRAWING
* CAD FILE NUMBER DRAWING NUMBER REV
JACKSCREW |LOW POST |SLOTTED #4/40 M83513/05-15 8 o JHIS DOCUMENT IS THE PROPERTY M83513-05 M83513-05 A
JACKSCREW |HIGH POST |SLOTTED #4/40* M83513/05-16 9 CONTAINED I\ 1T MAY BE DUPLICATED | CAGETDENTNG. | SIE
OR DISCLOSED WITHOUT PRIOR SCALE
JACKPOST |- - #4/40* M83513/05-17 10 WRITEN CONSENT OF CINCH. 71785 | B 5:1 ‘SHEET 20F2
8 7 6 5 ‘ 4 2 1




	Sheet 1
	Views
	new_view_36
	new_view_41
	new_view_44
	new_view_55
	new_view_56


	Sheet 2
	Views
	new_view_2
	new_view_10
	new_view_30
	new_view_59
	new_view_63



